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{ Full Marks : 450

[Izvrfg: 450

Note : (1) Attempt as many questions as you can. Each question carries 3 (Three)

marks. One mark will be deducted for each incorrect answer. Zero mark will

be awarded for each unattempted question.

SRyl ae @) T e B T R A weE 3 (@) o B ¥ g
Tod 9TR P [T § F Prer T VAS SRd WeH B aIwid I 8

(2) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one.

e tFfDe dafoud SR T8 SR @ fee wdid & O Mecay T8 IT) ¢4

Linguistics is a scientific study of :

(1) Language (2) Script
(3) Literature (4) Symbols
SINIEEIEIEEIEE IR

(1) 49 @1 (2) fofy =
(3) ey & (4) Wil 31

. * Celtic belongs to
(1) Austro-Asiatic (2) Indo-European (3) Indo-Irani
Hfecs T Iwe 2

(1) smsItREmes (2) wRid (3) 3USI-ER
Which language is related to Satem :

(1) Greek (2) Sanskrit (3) Latin
P WY Faq T § wEig 8

(1) (2) "epa (3) AT

Mundari belong to :
(1) Austro-Asiatic (2) Sino-Tibetan (3) Semitic
(1) seg-eftrnfes (2) fersehi-aed (3) |

(4) Indo-Germanic

(4) svRI-wHAS®

(4) French

(4) W

(4) Indo-Europcan

@) W
P.T.O.



10P/238/1

5.

Find out the Iranian Language :

{1} Kharia (2) Old Persian
(3) Ho {4) Lepcha

I |TET IR .

(1) @Ra (2) WA B
(3) (4) d=n

Which is not a Tibeto-Burman language ?

(1) Bodo (2) Kuki

(3) Maitei/Manipuri (4) Mundari
B0 w ad-adf 78 8 ?

1) @ (2) B

(3) ¥ /wlmgA (4) T

Which is under the Centum branch of Indo-European ?

(1) Greek (2) Persian (3) Sanskrit (4) Hindi
AR 3 DR T B AT B R 7

(1) de (2) BRA (3) H&pd (4) &=
Tulu belongs to :

(1) Munda (2) Tibeto-Burman
(3) Indo-Aryan (4) Dravidian

I 98 i © o

(1) gost (2) fyer-=Al

(3) R AR (@) s

Sindhi belongs to :

{1) Sumerian (2) Dravidian

(3) Persian (4) Indo-Aryan
= gy wafya §

1) gHda (2) =i

(3) PR (4) wRr-amiam

(2)



10.

1.

12.

13.

14.

15.
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Find out the Positional language :

(1) Persian (2) Turkish (3) Chinese (4) Sanskrit
AT Wiy @ifere -

(1) wreed 2 gH (3) @l (4)yaepd
Which is a dialect of Western Hindi ?

(1) Maithili (2) Braj (3) Bhojpuri (4) Magahi
afeer R 2 ST P £ 2 |

(1) Afeh (2) 79 (3) o (4) =R

In which form Awadhi is most famous ?

(1) Kavyabhasha ' (2) Technical Bhasha

(3) Rashtrabhasha (4) Rajbhasha

e frw wu § waits wRg & 7 -

(1) Fragum (2) THAS Ay

(3) g (4) JroramT

Which one belonigs to the First Middle Indo-Aryan stage ?

(1) Adokan Prakrit (2) Avahatta  (3) MaharastT  (4) Magadht
M AR ST B e TR WY A P E

(1) sEa oFT (2 e (3) W (4) e
Which Asokan Inscription is written in Kharosthi script ?

(1) -Dhauli o : : (2) Mansehra/Mansera

(3) Jaugad | (4) Kalsi

DA-H1 Sy Rrararg @) iy & faiRea 2 2

(1) e (2) ATTHERT /FARRT

(3) wig o (4) e

Which is written in DeVnagari script ?

(1) Punjabi (2) Nepali (3) Oriya (4) Telugu
P I AR fored e & 7 |

(1) uom (2) et (3) sfEa (4) ﬁ?jﬁ

(3) P.T.O.
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16. Which language is not Dravidian ?

(1) Kannada (2) Gujarati (3) Tamil
S48 wy gfas 7@ e ?
(1) &1 (2) TeIRN (3) af
17. Which is not Prakrit ?
(1) Maharastri (2) Magadht (3) Bhojpuri
DF W B e T
(1) wErrsh (2) AR (3) I
18. The official language of Israel is :
(1) Hebrew (2) Persian (3) Arabic
SRS B AT €
(1) feg (2) B (3) ored
19. Which one is the most ancient language ?
(1) Avhatta (2) Apabhransha (3) Prakrit
DHIF-H grEAETH A g 7
(1) ¥faee (2) 3mer (3) Hrpd
20. Bihari dialects have developed from :
(1) Brachad (2) Magadhi
(3) Shauraseni (4) Ardha-Magadhi
faerd aiferdl &1 g9 RE gan ©
(1) w17 (2) =R
(3) eRaH (4) arel-mmTelt
21. Khasi belongs to :
(1) Munda (2) Tibeto-Burman
(3) Dravidian (4) Austro-Asiatic
Ry Y gwiXd 2
(1) Hust (2) frag-sdi
(3) wfas (4) smegruREnfes

(4)

4) Telugu

(4) T

(4) Ardha-Magadht

(4) Sei-AmTell

{4) French

(4) BN

(4) Pali

(1) T



22.

23.

24,

25.

26.

27.

28.
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Garo is spoken in :

(1) Manipur . (2) Meghalaya
(3) Madhya Pradesh (4) Maharashtra
MRY Y& FrAT T 8 o

(1) wgR | (2) #Ewerd

(3) =4 3w (4) TERTS

Which language is not included in the VIII Schedule of the Constitution of
India ?

(1) Maithili (2) Santhali (3) Konkani (4) Rajasthani

B AT AR |WRuE @ sredt orREh ¥ wfa T e v

(1) Hfyeh (2) Herrel! (3) Hiwof (4) ToTeET

How many languages have been included in the VIII Schedule of Indian
Constitution ?

(1) Twenty Two (2) Fourteen (3) Eighteen (4) Fifteen
ARG |iqrT ot anadt sl d faa 9 sifem o 1€ 8 °?

O w2 A= (3) 3rTERE (4) TE
In how many States Hindi is the official language ?

(1) Six (2) Ten {3) Nine (4) Seven
el fopery wrodl &Y <oy & 2

(1) ©& (2) <« (3) (4) =
Which language is absolutely nof used now-a-days ?

(1) Sanskrit (2) Latin (3) Greek (4) Hittite
PR AT oE fewa e 7@ el & ?

(1) wwpa (2) =ifes (3) 91w (4) feerge /foxh

Which Article of the Constitution recognises Hindi as an official language ?

Gfae & 6 g & JaR ) B W9 B o & F9 F Fran el & 7

(1) 320 ) 310 (3) 343 (4) 363

Which language family is not in Europe ?

(1) Uralic (2) Dravidian (3) Altaic (4) Indo-European
(5) P.T.O.
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29,

30.

31.

32.

33.

34.

ﬁa-w-wqﬁmt{e'lﬁﬁ Tar & ?

(1) gufew (2) =fas (3) RSP (4) W
Find out the Inflecting or Fusional language :

(1) Arabic (2) English (3) Sudani (4) Chinese
Rae armes s @i ¢

(1) a=dl (2) 3rh (3) e (4) =N
English language is written in :

(1) Gurumukhi (2) Sharda (3) Devnagari {4) Roman
IS w39 faf F ford ol @

(1) e () W= (3) 2T (4) ¥
Name the script in which Marathi is written :

(1) Roman (2) Germanic (3) Gothic (4) Devnagari
RIS 9 @ fAfY &1 9 aasy

(1) 9 (2) sHR® (3) s (4) TFArR
Which dialect of Hindi is known as 'Kaurvi' ?

(1) Khariboli (2) Bundeli (3) Kannauji (4) Bangru
fa= B 5 qelt o1 99 BRAT B ?

(1) = (2) geeh (3) w=ireh @) &
What is the English word for w@fmRETT ?

St 7 @fafas & fow wgag o w®@ g ?

(1) Phonology (2) Phonemics (3) Morphemics  (4) Syntax
Varruchi has written :

(1) Prakrit Prakash (2} Prakrit Prabodh

(3) Prakritanushasan (4) Prakrit Lakshnam

o A o

(1) SIp srerer (2) sra v

(3) WHUTTrEA (4) WTPhT eI



35.

36.

37.

38.

39.

40.

41.
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The writer of '"Language'is :

(1) Hockett (2) Bloomfield (3) Gleason (4) Daniel Jones
q D AET € -

(1) gf@e (2) AHIES (3) veiRT () 3w wird
Find out the Tatsama word :

Teaw we vifeu -

(1) (2) o (3) = @)@
Identify the Tadbhav word :

e ¥ Y9I

(1) & 2) a4 (3) BH (4)ysm

The renowned work of Trivikramdev is :
(1) Vakyapadiya :  (2) Prakrit Shabdanushasan

{3) Siddhant Kaumudi : (4) Siksha

ffmaca & wegd @ 8 _

(1) Ty (2) wWpa IETIIHA

(3) Ryara gD (4) Rren

Bagheli is related to :

(1) Rajasthani (2) Eastern Hindi (3) Bihari (4) Western Hindi
Yool 3EY gEfg g '

(1) o 2) ot = (3) R (4) uf¥=d =0
Who is the author of 'Ajatshatru’ ?

(1) Jaishankar Prasad _ (2) Premchand

{3) Devkinandan Khatri {4) Ramkumar Verma

A B AGDH DA & ?

(1) STO¥IHR Adrg (2) J\mE=

(3) TEE == wH {4) IAGAR TH

The renowned Novel of Shrilal Shukla is :
{1} Tamas (2) Ragdarbari (3) Chitralekha (4) Amrit aur Vish
(7) P.T.O.
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42.

43.

44,

45,

46.

47.

48.

T I F TG ITYE ¢

(1) aw (2) IrTEEER (3) e
The writer of 'The God of Small Things' is :

(1) Taslima Nasreen (2) Shivani
(3) Arundhati Rai (4) Shobha De
2 vifs aifw T fiwy @ AR ¢

(1) T T (2) f3rar
(3} 3rBERH Y (4) M1 8
To which language 'Neelam' belongs :

(1) Portuguese (2) French (3) Persian
A &9 a1 & gty 8 7

(1) gelmren (2) Wi (3) W
Find out the French loan word :

(1) Camp (2) Garage (3) Station
HIERT | g O ey ¢

(1) &= (2) e (3) ®er
To which language 'Galicha' belongs -

(1} Persian (2) Hindi (3) Turkey
T R WY & e B 7

(1) R\ () &= (3) qH
What type of word "Agniboat’ is ?

(1) Foreign (2) Tadbhav (3} Deshaj
Fftaae’ A geR &1 a) # ?

(1) foee (2) w9 (3) &

Which one of the following word is Polysemy ?
e § wia-ar wTes arerell § 7

(1) aef (2) = (3) Arem
In which word Sandhi has been used ?

{0 weg & WY T 94T TN w ?

(1) W (2) Sa™ (3) I

(8)

(4) s9a R Ay

(4) English

(4) sl

(4) Blitz

(4) fesest

(4) English

(4) 3TN

(4) Bybrid

(4) HFR

(4) ISR

(4) smaiRa



48.

50.

51.

52.

53.

54.

55.

56.

57.
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Synonym of Talab is :
A T A

1 76 (2) "% (3) s/=1 {4) |Rar

What sort of compound word is "Tribhyj’ ?

‘Brpor fva nar 1 a\w 8 ?

(1) &7 @ &%

(3) Tegey (4) FHERE

Antonym of Prachinis:

AT B facim 2

(1) qrF (2) T (3) s (4) S
Identify Acronym word :

uRavft e ugenfAg

(1) POTA (2) Hinglish (3) Cycle (4) Ltd.
Find out Blended word :

oy w=m @if
(1) Pram (2) Motel (3) Frige (4) INSAT

Antonym of English word "Transparent’ is :

HUf wreg graRT @1 R{aw §

(1) Transient (2) Translucent (3} Opaque {4) Ominous

English words 'Pedigree’, "Ancestry’, 'Descent’ and Lineage' arc :
(1) Polysemous (2) Homonyms (3) Antonyms (4) Synonyms

It wsg AfSHY, OIS, fRew= qun oifuer e g ?
(1) s ) fremls (3) Ruremets (4) THTElE

Which is a Free Morpheme in English ?
IS ¥ P I HOA 7 7

(1} -al (2) un— (3) form (4) —er
Which is a Bound Morpheme in English ?

SN H HHA-A1 9 BAW B 7

(1} dent (2) low (3) seen (4) mat

(9) P.T.O.
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58.

59.

60.

61.

62.

63.

64.

65.

Which case form is not used in Awadhi ?

(1) genitive case (2) dative case

(3) object

et ¥ forw dR® g @ v 78 g ¢

(1) TTT BRE (2) THEH FRE

Prothesis has occurred in which of the following words ?

(3) wH

fv o & anfe vavmma g o A gom & ?

(1) s (2) T

What type of word 'Ghapla'is ?
{1} Tatsam (2) Deshaj
gueT {6 yeR B ey B 7

(1) T8 (2) <o

The meaning of Upodghat' is :
Joreara @ o ¢

(1) G (2) ggell ar
Which is a Bound Morpheme ?
9% SH P8 7

(1) 9% (2) W

Who said ‘3<ei=q dg ?

(1) Panini (2) Bhamah
s @ar arexy @ ?

(1) uforfe (2) e

(3) T

{3) Tadbhav

(3) T

(3) A

(3) SH

(3) Yask

(3) U

Identify the word with a Geminated consonant :

T facliga e & ey o gan wred yEEniy

(1) v (2) &

The Technical term in Hindi for the Vice-Chancellor is :

(3) 38T

TEG-gaeR’ @ fore 2=l o miRwifYe vreg

(1) S9-aemiy
(3) qerfeuta

(2} ‘:}3m*1¥?1

(4) HATIIRID

(4) subject

(4) ¥t

(4) wg=x

(4) Forecign

(4) fa=ah

(1) TgETRT

(4) —©:

{4) Varruchi

(4) T

(4) el



66.

67.

68.

69.

70.

71,

72.

73.

Choose the correct spelling :

g& I BT T BT -
(1) Accommodation (2) Acomodation
(3) Acommodation (4) Accomodation

How many language families are there in India ?

AR ¥ fhast wrer oftaR € 7

(1) 5 (2) 6 (3) 4

Which of the following is not a native sound in Hindi ?
(1) [f] (2} lph] (3) [m]

e § @ Pl = B @ g A 5 R ?

(1) %] 2) (%] (3) 1]

The cardinal vowel [i] is :

(1) close (2) open (3) lialf close
e {18

(1) wga () fga @) T
English [d] is not :

(1) Alveolar (2) Plosive (3) Dental
sl [d] e R

(1) =Rl (2) et (3) T3
Which is a Diphthong ?

B HYR WX B 7

(1) [el (2} [a] (3) [x]

Which one is a Velar Fricative ?

FH-] eafy Hog aodt 7 ?

(1) Ix) @ Iql (3) [gh]
Which one is not a vowel ?

-G wR TEE?

(1) e} (2) [u] (3) {w]

(11}

10P/238/1

4) 3

4) [p]

(4 1]

(4) Half open
(4) ot fage

(4) Voiced

(4) Ty

4) [w]

(4) [k]

(4) [a]

PT.O.
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74.

75.

76.

77.

78.

79.

80.

81.

Which one is a palatal semivowel ?
BT Tefeg Hefvax & ?
M Ij] 2 [w] G3) [yl

Which one is a 'minimal pair’ in English ?
BT ¥ g 3ol F e taw 2 ?
(1) bat, gate (2) bowl-load (3) but, put

English [ g ] is not :

(12)

@ (v]

(4} beat, boot

(1) Plosive (2) Velar (3) Voiced (4) Fricative
ol [g] w® 7T € -

(1) et (2) ®ay (3) 9Ey 4) wudt
Which is a Phoneme of English ?

® 3l | g ?

1 [t] (2) [kh] (3) [th] (4) [dh]
Find out the Voiced Plosive :

way et @ ¢

1) [pl 2) [t] 3) [k] (4) [ gl
Which is a suprasegmental feature ?

(1) Consonant (2} Pitch (3) Cluster (4) Vowel
DN IfrETerHE AT § ?

(1) =e 2) ux (3) T= (4) ¥
Hindi vowels [i][i:]are:

(1) Front closed (2} Front half closed

(3) Back open (4) Back closed

e g § @RE: N

(1) 3w €gd (2) 3T o Fgg  (3) uwd fagg (4) aTa dga
Find out the Labiodental Fricative :

(1) [n] 2 [g] 3) [f] @ [pl



82.

83.

84.

85.

86.

87.

Apocope is loss of a vowel :

(1) Medially (2) Finally
IFTAY H TR HT NG BRI B
(1) =u ¥ ) oFa ¥
Hindi [t] is:

(1) Dental (2) Labial
el @ 2

(1) 3= (2) sy
Hindi [d] is :

(1) Velar (2) Aspirate
= = 8

(1) P53 (2) weTITT

10P/238/1

(3) Initially {(4) Elsewherc
(3) enfe 3 (4)

(3) Aspirate (4) Voiced
(3) wEwToT (4) @

(3) Voiced (4) Labial

(3) wey (4) ¥z

Identify the Adjective in the following words :

ey o=l 9 fRQdger gearfav
(1) fwRe (2) =g

(3) & (4) =AF

The word “@/4-a/" is an example of :

{1) Sandhi

(3) Partial Reduplication
-G TG $DT IR § ¢
(1) |

(3) e gofad

(2) Onomatopocia
(4) Simple compound

(2) STRVIATHE
(4) TR A

The word TI9IR-ZIT" is an example of

(1) Reduplicatives

(3) Onomatopoeia
YIAR-ETC §HEA! IR B
(1) g¥oad ¥

(3) HFXUHHE

(2) LEcho words
(4) Lexical Doublet

(2) uftreafy g
(4) v g

(13) P.T.0.
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89.

90.

91.

92.

93.

94.

95.

What is the Part of Speech in 'Pratishthit’ ?

(1) Noun (2) Adjective (3) Verb (4) Adverb
wiaftea wes f5d uead w18 ?
(1) s (2) faremor (3) 4) frafasiyor

'Pro' Prefix is in the word :

‘oY Quatt 39 vew W B

(1) Province ' (2) Prohibit

(3) Problem (4) Pro Vice-Chancellor
Identify the Liquid Sound :

T W IR

(1) {m] (2) [rl (3) fal (4) [w]

Which of the following is Masculine word ?
frefafea & @ @H-wr o effem 8 ?
(1) argar (2) srEaR (3) 38w (4) AEBN

Find out the Noun word :

el I qEefAy

(1) Daring (2} Dark (3) Dart (4) Damp
Who framed Phonetic Laws ?

£1) Grimm {2) Sapir (3) Gleason {4) Bloomfield
feq wfag = wafy Fremi a6 e @ ?

(1) firg (2) 9dR (3) el (4) =pTIES
Find out the simple word among the following :

1 A W=a I usAg

(1) Block (2) Backing (3) Badly (4) Bailable
Which among the following is an Articulator ?

(1) Hard Palate (2) Tongue (3) Soft Palate (4) Nose
o o e BE-aT § 2

(1) FBR a1g (2) forean (3) dHA g (4) ®

(14)
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96. Whiéh one is not an Articulator ?

(1) Front of the tongue' _ (2) Back of the tongue
(3) Pharynx (4) Lower Lip
-1 YO FF 7 ?
(1) Rredanr (2) forear ue=
(3) e (4) =R
97. ldentify the Voiced Fricative :
wan st ggenfa ¢
(1) [z] 2) [k] 3 Ipl (4) [d]

98. Select the word with correct spelling :
g T 9Tl s @7 =TEH P
(1) 3 ' (2) e (3) fafers (4) gforee
99. Which is the correct sentence in the following ?
frefafag & sF-w1 o gg & 7
(1) ¥ g8 &7 I T (2) 8§ RT FM B
(3) v gl H Jar T (4) HIET A TS AT B
100. Select the word that is closest in meaning for 'Superannuated’ :
‘Superannuated’ % forg witaad] awf[gaﬁ' I Bl GIgF BT ¢
(1) Retired (2) Accepted (3) Radiant (4) Iixperienced
101. Substitute of Jo vyavhar mein na laya gaya ho'is :
ol B D I 2 R OIS IS ES BN A
(1) armen (2) areagd (3) 3¥E¥q (4) TEqDH
102. Hindi word Bharbhar' is :
(1) Tadbhav (2) Deshaj (3) Imitative (4) Forcign
fovdl vI| Weus ¥ :
(1) agvg (2) TIT (3) ATHICMAD (4) fag=h

(15) P.T.O.
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103. Devnagari is a Scientific script because :

104.

105.

106.

107.

108.

(1) Itis very easy

(3) It is beautiful

g e faft @ wifs
(1) T€ FUH el &

(3) aF ge¥ 8

Antonym of 'Traitor’ is :

‘e & fAdm 2

(1) Patriot (2) Enemy

Voicing takes place at :

(1) Vocal cords

(3) Tongue

freeer & ufsar g8t e 2
(1) wWas

(3) forear

Which language has Dual number ?
(1) Bengali (2) English
foer wmwr # fgae frerar & 7

(1) Fmedt (2) st

(2) One sound one symbol
(4) Itis readable

(2) @ @i & fag e fafy fags
(4) a8 Tog &

(3) Rebel {(4) Conspirator

(2} Soft palate
(4) 1lard palate

(2) dHE T

(4) HOR Ty

(3) Hindi (4) Sanskrit
(3) F=h (4) F¥pa

The most widely spoken non-English language in US.A. is :

(1) Spanish (2) Japanese

(3) Hindi (4) Chinese

o THo To W ol Qe T arelt 3f9-gfersr W & -

(3) fa=lt (4) =@

In which of the following words |z| is replaced by |s| or |z] in General

= 3 9 s o & SRy | 2| & I W 9Erg TRdE St § (s o)z

(1) e (2) Smard
Indian English ?

B oy & 7

(1) West {2) House

(16)

(3) Measure (4) Noise



109.

110.

111,

112.

113.

The word-order in Hindi is :
(1) Subject-object-verb

(3) Subject-verb-object

e o wrex W AU U=HH FE ©
(1) Fl-FHH-foma

(3) wal-forar-w+

Accusative is the case of :

(1} Direct object

(3) Subject

HHBRG §Y BRP © (oY TGHR Bl 8

(1) v &
(3) G%'W/Eﬁ?ﬁ

Pidgin and Creole are :
(1) Slangs

(3) Literary Languages
fafs ik fpsia &

(1) fRreax

(3) wfefeas amr

The Scholars in 'Munitraya’ are :
(1) Panini Yask Patanjali

(3) Bhartrihari Yask Panini

(1) uifeify o~ gawfer

(3) el a~e ity

Who said ‘WrefagaRyR vg: wifauiesy ?

{1) Bhamah (2) Patanjali

10P/238/1

(2} Verb-subject-object
(4) Obiject-subject-verb

fohar-el-H
-

(2)
)

Predicate

(2)
(4) Indirect object
ey

Titor &+

(2)
(4)

(2
(4)

Jargons

Mixed Languages

HTAATIS
G IERERIIY

2)
4)

(2)
(4)

Panini Katyayan Patanjali

Panini Bhamah Yask

ooy e gt
qiferfy WiHE Ur&p

)
(4)

Panini (4) Yask

3)

‘fIUTR Herd: wirafeas fewedr s 8 7

(1) we (2) Ui

(17)

(3) wifity (4) I =H

P.T.O.
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114.

115,

116.

117.

118.

Who was the founder of Prague School ?
(1) Bloomfield  (2) Mathesius (3) Vendryes (4) Meillet

U ¥ & HNe o o ?

(1) =prics (@) ¥Rww (3) I @ =2
First and famous Linguist of Copenhegen School is :

(1) V.Brondal (2) Saussure

(3) S. M. Lamb (4) J.R. Firth

FIURT GRIRTT & AYH e Ay #

(1) do Fiea (2) TRR

(3) THo THo & (4) Sto R0 Y
Linguist who is not alive ?

(1) D.P. Pattanayak (2) Panchanan Mohanty
(3) R.C.Sharma (4) R.N. Srivastava
HF AIfg Sifaw 7@ & ?

(1) Qo To yegH (2) 9T Higd

(3) ¥Ro Wo i | (4) 3Ro YHo Hareda
Who among the following is a 'Bharat Bharati' awardee of 2007 ?
(1) Parmanand Srivastava (2) Ramchandra Tewari
(3) Namvar Singh (4) Gopal Das 'Niraj'
T ¥ fHED 2007 &1 MR ARG WA W9 § 7

(1) wRAFT<T SaRda (2) I foar)

(3) "M fH7 (4) Muis T HRT

To whom 'Booker Award' has been given in 2008 ?

(1) Mahashweta Devi (2) Arvind Adiga

(3) Shobha De {4) Shashi Tharoor
2008 # ‘g G fH fomn mar 2 2

(1) #Eredar & | (2) srfe=g arfem

(3) =M g (4) wf¥r emeR

(18)
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120.

121.

122.

123.

124,
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What type of Devnagari script is ?

(1) Syllabic (2) Satratmak

(3) Chitratmak (4) Bhavatmak

g faft 5 yor @ 8 7

(1) FERHS (2) S

(3) s (4) HEEE

How many vowels are there in Modern Hindi ?

(1) Ten (2) Eleven (3) Thirteen (4) Twelve
mgfre B A o =R 82

(1) =4 (2) TRE (3) TE (4) R

In the following Hindi sounds which one is long vowel ?

e i =i A 9 "R R

(1) [a] (2) lel (3) [u] 4 [i]
The function of Vocal cords in producing sounds is to create :

(1) Aspiration ' (2) Duration

(3) Voicing (4) Non-aspiration

el @ Iearer § el #1 yed €

(1) HASTHIORTT U~ Al (2) =r=n

(3) ¥AT I~ BT (4) STUTTUAT I HAT

Hindi [h] consonant is :

(1} Voiceless Velar (2) Voiced Plosive
(3} Voiced glottal fricative (4) Voiced velar
fa=t @1 7 o 2

(1) 37N B3 (2) ey st

(3} |UY HHA Fud (4) 9y H3F
Infix is used in the language :

(1) Hindi (2) Munda

(3) Marathi (4) English

(19) P.T.0.
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125.

126.

127.

128.

129.

130.

131.

qertt &1 A g v o 8var §
(1) f&=h (2) quer
(3) A (4) SMUSH

In which word 'dur' prefix has been used ?

frer 3 9 fbe wreg § g¥ uoTg ggEd w0 e ?

() i (2 3= (3) goma (4) g
Example of Noun case is :

Tl SYITR 1 T8 S80I | ¢

(1) & g8 T F A 2

(2) R BHI Y& e B

(3) #9 IWY FE A & A TIRE TR |
(4) == T 7 P A ORI 8

Words having similar spelling but different meaning are known as :

(1) Homonymy  (2) Homophony (3) Honorific (4) Hyponymy
I FEe fpeg T aref 9t s wEemd €

(1) FwIe (2) g (3) sexrlE (4) Sl
The suffix —'ik’ in 'Samasik produces :

(1) Adverb (2) Adjective (3) Noun (4 Verb
IR T W g SUET W g IedlRy Bkl 8

(1) fraifadmy (2) faero (3) s (4) fopar

Find out Persian-Arabic Suffix :

WRA-3RE g9y ygenIg -

(1) TR (2) R (3) "I (4) T

'Leela Prabodh' and 'Leela Praveen’ are the examples of :

(1) Books (2) Magazines (3) Hardware (4) Hindi Software
ST TR AR Srem WAT 39S STERT E

(1) g - (2) FTHA (3) TTEIW (4) &= digear

'Sarp' and "Ushtra’ has changed to 'Sanp' and 'Unt’ because of :
(1) Nasalisation (2) Metathesis (3) Elision (4) Lengthening
(20)



132.

133.

134.

135.

136.

137.

138.
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it iR 9% g9 HRYT Wiw Ak ge § uRafa go @ -

(1) srFpiie=e. (2) fRuda (3) @ (4) <diHR
Conversion of 'chihna' into 'Chinha’ is the example of :

(1) Anaptyxis (2) Metathesis (3) Prothesis (4) Epenthesis
fags @1 g 9 oRads s SEER

(1) wAfH (2) aui fawdy (3) anfefafefa (4) arafafefy
Find out the example of Aphesis :

e &1 ISTE9 @I -

(1) gaf > < (2) BRI > T (3) I > JyW (4) STETT > BT

In which word Prothesis is there i
& w= ¥ anfewawrm & ? . |
(1) W™ (2) 3T (3) - =R - (4) TR

Sanskrit Dharma’ changed into 'Dhamma’ in Prakrit due to :

(1) Assimilation (2) Elision (3} Dissimilation (4) Metathesis
ARpd T WP F 9 A B, 39 BRI |

(1) aHERT (2) o™ (3) fawdawy (4) foudy

'a’ in Prakrit 'ajja’ has become 'a’ in Hindi 3j due to:

(1). Simplification (2) Assimilation

(3) Compensatory Lengthening (4) Dissimilation

W ool @I 3 fE o WS, ¥ PIROT I

(1) WeFRT (2) TR

(3) witigRes Sreffeor (4) faeitervor

Identify the example of Dissimilation :
faHeBeT @1 SereveT gEaIg ;
(O | > sgfa ) (g > = (3) eR= > wforgEr (4) wred > el
Tatsama of Hindi word 'Angeethi’ is :
(1) FffeasT (2) srfrewr | (3) afrdreT (4) ¥e&qre
(21) P.T.O.
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139. Synonym of 'Pan'is:
I & qatuarh 9% #
(1) werg (2) uotean (3) foacra (4) 9=
140. English word Jail' become Jehal' in Bhojpuri by : |
(1) Apenthesis (2) Metathesis (3) Anaptyxis (4) Syncope
ST T S HOTgH W S, THS G g B

(1) mEPRR ) fawda (3) e (4) et W
141. Which kind of Phonetic change is there in the word 'nak-kata’ to 'nakata’ ?

(1) Simplification (2) Hypology -

(3) Elision (4) Metathesis

Trp-wer @ wer B ¥ i R B afy aRad g # ?

(1) wRE (2) SRR Y

(3) @ (4) faoda

142, By which process the spelling of French loan word 'male-femelle’ was changed
' in English to ‘male-female’ ?

(1) Hypology (2) Simplification
(3) Analogy {4) Elision-
G § i) R o @ ‘male-femelle' @ T fF ufFT @ 'male-female
amh? '
(1) TR @9 (2) TAPY
(3) wgEm (4) @

143. The Hindi words S™@ and T&" are example of :
(1) Synonyms (2) Antonyms
(3) Nouns (4) Homonyms
R e e OR Fle, 399 SR R
(1) aormRi (2) Rt
(3) Hsm (4) AR

(22)



144,

145.

146.

147.

148.

149.
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Identify Marathi loan word :

RIS M g YA ¢
(1) 9= (2) aw (3) afeh (4) Traeht

English word for ‘geufRifasm is :

e @ frg s W @

(1) Etiological (2) Etymology
(3 Ethnbglossia (4) Evolution

From among the following which Plural word is used as singular ?
= # Q@ D1-91 U 95997 @0 B W Ueqad § qgad s 8 7
(1) News (2) Irons (3) Peoples (4) Practices

What kind of semantic change occurs when the meaning of a word is made
specific ? '

(1) Extension (2) Restriction/contraction

(3) Simplification (4) Transfer/Shift

o9 frell W @1 ored HeafAa & Smen B, < 78 fhE g @7 ek gRecdw g 0
(1) fowr (2) dorE |
(3) |IHU (4) =Y

Hindi word 'Maun’ meant the 'Vrat' or 'Charya’ of a 'Muni' in Sanskrit but now
it is used for 'silence' is an example of :

(1) Extension of meaning (2) Simplification

(3) Transference of meaning (4) Contraction of meaning

=t f wye gt /oty @1 dwe W v W W ogf @ wa/ gut @ dee
of | UE TEH IIMERT B

(1) aref faame (2) wRelm

(3) i@ 4) 31 Forg
Inventor of Stratificational Grammar is :

(1) Sidney Lamb (2) Charles Fillmore
(3) K. L. Pike (4) Chomsky

(23) P.T.0.
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150.

WRGRRAT el & woe € ¢
(1) frsh o
(3) o Ao TIEH

(2) ™ e
(4) Tt

The writer of 'Meaning and Meaning’ is

(1) J. R. Firth

(3) Ogden and Richards
T sife AT & aw® 2 -
(1) Slo 3Ro He

@) s ws Reada

(24)

{(2) Bloch & Trager
(4) Bloomfield

(2) =i 8 TR
(&) wprIes



sgfelal @ fag fadw

(&0 gRAE & T SRV-gS W qu SRS @ < 98l W @ad Heft/Brefl dror-age 97 A € 1’81@")

1.

10.

11.

12.
13.
14.

ue gRder fem @ 10 e @ oY & 3w o & yyus § 9 g dsE 8 ok e
e wel Al B gRaeT Qv Ul We W OSHE gael bt Be FREE B daw
HAUT URAYS B gHY YRGBT U HR o |

. T T A fIErET WRT U # GfafRed, PR A1 wel B8 0 el st @

T o |

. SR e W far war ¥ 39 7 @t 9IS @l 7 @ Rea &Y gawr gov-ya TE@

fear ST 1 #9er SOV-aF &7 & JoareT [Bar o

AUl HFFHIS TYT SCUT BT BAE FYT eRoryw g g7 @ fAgiRa vemt w

fora |

. FUCTT P HYT Y YT U W JUT sgmaie frerfa e gy ford wer R g gt

! mer BY T/ TEl-WEl Waeqs § gl AvT-gRa®mT & HAID a7 6E DI Y
T wrt gy fordy

. 3o THo IRo TF WX IHHIG A, UeA-URaer dwmr g ¥e |@E&m (@i P gl gl

TeA-YRaeT UR IFHAHIG W SR o YHo IWo uF dea @) ufdfedl § IuRerad 4t
Fafa 78 B |

STw e § wi @ qRadw we Plew gRn gl 2 @i ST U W

3T AR $1 TaT /I S

. WEAYRRIET & Tw uvd & R @fodd 9N ol T T FE® AT § 4B/ gav @

ford syat ge-ud & Wl gfda @ aree fod 9 39 @) GO P 999 yO W
o3 74 fA]¥ @ SR 9T W Wl HeA B

. UAP U P IR B (A9 BIA T & g9 Bl T B | TH A AT gl @M B

R AT Uh g BF AY0F MRA WY I8 SR A AT A

e & & v g wrd g sifda gy g9 78 or wear €/ e e ey
F1 gTv T8 @97 wEd & O watvg ufdg @ 9rm R} el g9l o el IS 1
Uy yeAl IR e afd Ol o

% P B o) W URRIR B RETS B oRR AidT S del o @il gss @ i
N |

e & SURT FEF-GROPT §F Faeg9 Tl Taq 3 o HR 4 |

TR I 8F | U8 T HaH [ AR, W @ At 98 8RN |

afy 1 sl o § sefud Al @ wEn wvan @ ) 98 Rafaea g PaiRa
TS BT/ B 9T e /R
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